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&5 R 4 ﬁf Tﬂﬁﬁﬁ‘(nb‘oo)ﬂﬁﬁﬁ 73(&3%‘5 K 4 Tﬂﬁﬁﬂg\ﬁz(on)q)jk$ .(%r,na: 73(&3%‘5 X 4 .(grﬁ J:ﬂnﬁﬁ\(z)a)tt.% jj(giff)é X 4 J:ﬂnﬁﬁ\(z)a)tt.% ﬁlj ﬂ(ﬁiﬁé
; 100kN/M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - [ 3mERBZS -~ - -
zh st 1.00 | 000 ~ 573 71.61 | Fhs | 0oo ~ 573 1.95 10.45 zhst 1.00 | 5.00 ~ 7.00 71.61 | #hs | 5.00 ~ 700 1.95 10.45
P 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - [ 3mERBZS -~
zh st 1.00 | 0.00 ~ 500 62.26 | NS | 000 ~ 500 | 1.74 9.29 zhst 1.00 | 5.00 ~ 5.30 62.26 | =hds | 500 ~ 530 1.74 9.29
3 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~
zh st 1.00 | 0.00 ~ 649 81.76 | Fhus | 000 ~ 649 204 10.92 zhst 1.00 | 6.00 ~ 9.14 81.76 | ThS | 500 ~ 914 | 204 10.92
4 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~
zh st 1.00 | 000 ~ 602 7548 | Fhs | 0oo ~ 02| 214 11.47 zhst 1.00 | 5.00 ~ 9.20 7548 | FhS | 5.00 ~ 920 2.14 11.47
5 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%E# 2% - -~ - -[3mERBZS -~
zh st 1.00 | 0.00 ~ 597 74.82 | Fhs | 000 ~ 597 220 11.79 zhst 1.00 | 6.00 ~ 986 74.82 | #hS | 5.00 ~ 986 | 2.20 11.79
5 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%E#8 2% - -~ - -[3mERBZS -~
zh st 1.00 | 0.00 ~ 658 83.04 | Fhus | 000 ~ 658 1.96 10.49 zhst 1.00 | 5.00 ~ 865 83.04 | ThS | 500 ~ 865 | 1.96 10.49
- 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%# 2% - -~ - -[3mERBZS -~
zh st 1.00 1 000 ~ 464 57.82 | NS | 000 ~ 464 | 233 12.46 zhst 1.00 | 5.00 ~ 8831 57.82 | TnS | 500 ~ 831 | 233 12.46
3 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~
zh st 1.00 | 000 ~ 524 65.30 | NS | 000 ~ 524 | 2.90 15.54 zhst 1.00 | 500 ~ 1023 65.30 | NS | 5.00 ~ 1023 290 15.54
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
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